20.

21,

29.

23.

24,

SECTION C — (3 x 10 = 30 marks)

Answer any THREE questit)ns each in 500 words

Explain - about Interprocess communication in
detail. ' ‘

Interprocess communication Lpd  eflfleurs
eflarésayLb.

Explain in detail about deadlock avoidance and

_write the Banker’s algorithm for the same.

Deadlock. Avoidance upfl elfleurs efarése b,
Si5HEnE cufipapa@ud (EpBID. s I

Discuss in - detail about paged - memory
management technigue with an example.

Paged memory management  {ILUS®S 'g,@‘g
T @bsssn (L efflaurs efeurdssayb. E:
Explain with an example, the concept of virtual
memory used for memory management. A
wrw  Henarasb GeTD  SHES! saflafl  Havareus
Cuararmnulded eeaery UwLeUGSDS ealms
TR GsM_GLer eilargsa. :

Explain about the application on an 1/0 interface.

1/0 gpaeilanaumésl Lwdtur@ee upi ederssab.
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Time . Three hours Maximum : 75 marks
' SECTION A — (10 x 2 = 20 marks)
Answer any TEN questions each in 30 words.
1.  Define operating system..
'Operating} System euenywpi&EaD.
9.  Define process. .
Procéss euanupi&salb.
3. What is PCB?
PCB erenpmed erewmen ?
4. What is a Binary Semaphore?.
Binary Semaphore eTampTE) GrevTam ?
5. What is Deadlock?
Deadlock erampmed Grébren ?
6. What is logical address?
sirse (paeufl eramprd eraman ?
7. What is paging?

Paging erempied erean 2

W Bm o Opeety 3



9.

10.

11.

12,

130

14. -

What is external fragmentation? -
External Fragmentation erempmed eremen?
What is thrashing?
Thrashing %rstrmﬁeb eTéTa 7
What is a file?
Gamriiy erapméd erebrew ?
What are the different registers of I/O port?
/O Gumin_iq 6, QeueCauy u,é,]mﬁ]esmu;m_smmé
What is a buffer?
.Buffer ereémpméd ereiren

SECTION B — (5 x 5 = 25 marks)
Answer any. FIVE questions each in 200.beds .
Deyscribe scheduling criteria.
AL & iarayCaresamar éﬁ]@;rﬂé;a;eﬁm.

Explain the critical section problem.

Critical Section Problem ellaTéseyLb.
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15.

16.

17.

18.

19.

What are the necessary conditions to occur a
deadlock? Explain.

Deadlock epuL Csameuwirar Hlupsmenser wreney -

@ﬂm&@as.

Write short notes on Overlays.

Overlays Agigdriy cuanys:

Explain FIFO page replacement algorithm with an

example.

FIFO page replacement Ll apenmeniL

- ThSsIEsT_HL6 efetsselb.

Discuss on free space management using a free
list.

Free space manage’mené using a free list upH
efleundlésayib.

What are the characteristics of 1/O devices?
Explain.

1/0 sngarmiisafer Lamysear wireeu ? alerds 5.
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